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30a 3.(1) m—48 (2) 80—a+b (3)a—5 (4) b=+—300 (5) 4d

LK 26 2 (2)40a 480 (3) a—x a+30 (4) S=ah=2 1.92cm’
2.S=15 20B 120=+C

A=11 B=96

1.10+3x 2.6—60 b»—180 b5—420 bH—60a 3. (1) bntm (2) (atb)+5

E=iRAt

&5 IO iR Bt

ERIRAT
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PRAETEEHE

B b M
PR B

(3) Bat4b (D) 2m+3  (5) FBREEF LT IUMIEL  SEBR AL I AR

1. (1) 150°—m" (2) 180°—a’—6° (3) 180°—2a° (4) (180°—a")+2

2. (1) 160+20a (2) 520 T 3%

(D C=2+2a (2)22 (3)49

1. (D) S=(a+bh+2 14.4 (2) C=(at+b) X2 7.8 S=ab 3.6 (3) S=
ah 28 (4) S=ah—2 8 2.5+t 30a 5b s=v c+b 600=a bt

3. (1) 405+3m 645

1. (1) 18x+ab (2) 216+156 2.ah—+2

at a*+2

1.11x 7m 10b 7a+6b 6n 7a 9c 6x 2.(1)5a 3a 8a 2a (2)70a
(3) 5a Ta (4) 20a (5) 22a 3.(1) 11x (2) 33

1. (D) 75+=0W—a) (2)25 2.200+=x—5 3

15+a

L= < = = = RBEME 2.6+0H+xr a+ b7 GB+Har 5X
c+5X4 3.(Dm—2 mt2 (2)4a a& (3)40—atb 4) a—1.5x

(5) 24a+b (6) 18a

1. (1) 250a  (2) 1250 2. (1) "4ERPEgE  (2) ab+96 216

25cm?  9cem?

FEhExw EE5EZ

1.(1) 3812k (2) —24 A (3) —750 (4) —15 2.(1) §K 1000 %
7 45 ;
(2) 400.04 (3)3 5 7 (415 150 (5 10 0.7 100 0.045 3. <<

> = < > < 4.0.023<C0.203<C0.23<C0.302<C0.32 5.m—45¢
6. 110a
L(HOX v v Vv 2.(1)18.7 1.78 18.6700 18.67

(2) 7.204 7.195
1. 0. 9<<(0. 91)<C(0. 92)<(0. 93) <1
<C(6. 394)<C(6. 395)<C6. 4

2. 6. 39<C(6. 391)<C(6. 392)<T(6. 393)

1.17.14 45,28 321.6 1.5 3.1 0.28 32.16 150 2.25.17 1.36
2.1586 42.5
1.8X6.5-50=1.04(m*) 2,602, 2=27(F) - 0.6CK) 3.53+4=14

() 4.150+30X300=1500(T7%)
HE.12 %012

1.3.6 0.0008 0.03 4 0.63 0.5
15.71 2.71

3.20—0. 46—0. 54
=20—1(0. 46+0. 54)

300+ (150+30) =60(F7%)

10 0.26 0.4 2.7.29 1.07

3.75+0.98+1. 25
=3.75+1.25+40.98

3.25—(1.48—0.75
=3.2540.75—1.48

=20—1 =5+-0.98 =4—1.48

=19 =5.98 =2.52

5.8X9.9 4. 72X5.7+0. 528 X 57 125X7. 8X0. 08
=5.8X(10—0. 1) =4,72X5,745.28X5.7 =125X0.08X7.8
=5.8X10—5.8X0.1 =(4.72+5.28) X5.7 =10X7.8
=57.42 =57 =78



5.6+35 6. 8X4+3.2-+0. 25 X (42--21) X2=8([H)

=5.6+7=<5 =6.8X4+3.2X4 ST IE
=0.8+5 =(6.843.2) X4 45 9
—0.16 —10 — L 0.1 7 0.0l 14 2.4 — 4 FHZ— 3 g5 045 555 0-009 101000
fEhiasial 1.(1) 7.2+1.2X3.5=21 (2) 36.9+0.9+3X0.8=43.4 2.(2540—95X 4. 8.808>>8.8>>8.088>>0.88 5. 5,50 6. 50.74 7. 59.5 59 5 595 8. 2.100 10.040
19)=87. 5=16(F) 3. (1) (6.54*3)X2'4+8:10'1(ﬁ) (2) (27, 2—8) = 5.000 5.080 0.690 9. 4.617J7 4.6J7 678.974Z 679.042 10. 7.25 7.26 7.27 7.28
7.29 7.31 7.32 7.33 7.34 11. 84999 75000
2. 4+3=11(T4) —.L X 2.X 3 X 4 v 5 X
BERM  0.8—0.3=0.5 0.09—0.04=0.05 0.5—0.05=0.45 Z.1LB 2B 3B 4D 5 B
SRR PRacsEE 1.40000 5 8 54000 0.64 0.32 3.28X20=560(cm’) 2.5X1.3=3.25 M. 183 58 14 30 540 450 74 1200 2. 678 1800 191 4800 248 687
(m?)  (0.8+1.7)X1.2+2=1.5(cm®) 3.(LDX @ v G X AV F.7 7.0 700 3 3.4 336 1 L0 103

4. (1) (704-130) X60+2=6000(m*) (2) 432+ (12X6+2)=12(30)
(3) 12.5X2+7.8=32.8CK)a 12. 5-+7. 8 X2=28. 1CK)

fiefizsf| 1.0.4X0.5+2=0. 1(dm?) 0.8X0.5—0.1=0. 3(dm®) 2. (84—24) X242
=720(m?) 3.(8.4410.6) X4+-2X0.4=15.2(T %) 15.2<<16 f% (8.4
+10. 6) X4--2-0. 19=200(f)

BERH  300X2+30=20(cm) (10+30) X 20-+2=400(cm?)

. (1)0.123 0.132 0.213 0.231 0.312 0.321

(2) 3.012 3.021 3.102 3.201 3.120 3.210

(3) 10.23 10.32 20.31 20.13 30.12 30.21 2. 3~9 0~2 0~3 5~9 0~4 3. 2800
S (4X100)=7CNE) 4. 6.12>>6.05>>5.95>>5. 91 HINE— ZELE - FUIE= I
PO 5. 14.8<C15.03<C15.4<C16. 12 SE—A Th E_Hikde H=KZZEN HUHHH

6. H RS 4,049 H/E 3,500
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SRR FEHEE LR = (@M 2.(1)70 40 10 (2) 238 (3) 478 (4) W& — "
fle 25l 1.(9.8—81+10) X32="54. 4(J5) (2—30+20) X56=28(50) 54.4+28= FHETLEITE
82.4JC) 2.6 Fh 42m’ — 1 - 7 6 2. /MNEBMERT 3. 5.7940.21=6 5 6—5.79=0.21 4. 1.6 10.8 5 < >
HEES 25 GrivEA. 10 GrE A BbT O Lk > > 6. o.51>i§:g5 +1§:§1§ CEZRME—) 8.8.2 8 9. 7.2 R4 10. H4hm
F—BITHIE 3.85 1600
—. 1L +4 +15 9 —5 —3 —4 0 2.(1D —2# (2 +20 A (3 +3812% 3.—4 —3 11. 22
1 2 4 43EHS5 5 —5C<—2C<0C<<1C<3C —5C 3C 6.—4 120 7.+1200 —.L X 2.v 33X 4 X 5V
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—1Lv 2 X 3V 4V 5V M. 1. 836 9.37 0.15 1.11 0.08 8.71 10 0.46 0.07 25.8 2. 12.1 0.18 1.46 1.36
=.1.A 2B 3B 4 C 5 C 49.28 6.61 15.6 9.2 3. (1) 5.25—(0.29+2.8)=2.16 (2) 9.7—0.98—2. 35=6. 37
MM, 1. 900 7 357 560000 600 66000 470 64000 7075 3 50 11 2.7290 66240 FH.L 7.5—1.46F7.5=13.54(55) 2. 25.7+0.72—1.4=25.02(TF-%%) 3. 8.64+0.75=9. 39(FH)
210000 204 14 93.75 3.168 600 17127 462 4.(1) —5 (2) & 6 (3) —4 4. 3.5—0.5—0.9=2.1CKk) 5. (1) 3.5—0.8=2.700) (2) 1.75+0.8=2.55(J) (3) 3.5+
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k) —600 K —.1.55.8 5.58 5.58 558 12.4 1.24 0.45 450 2. < < < > = < 3 $%k100
FE_HBITEIE f% 0.578 4.4 527 6.0.73 5.3 7.3.24 8 90 9.0.04 25 10. 16
—.1. 1500 2. 240 3. 16 4. 600 3 3500 16 5. 22 24 528 6. 10 7.4 8.54 9.20 Z.L X 22X 3 X 4 X 5V
10.15 30 =.1.B 2.B 3. B 4 C 5B
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7N, 1. 100X 322X 600=960000(cm®)  960000cm® =96m?> 2. (1248) X 10+2=100(dm?) 3. 750 WK, K 2.52m* 2. (59.2—4.8)+3.2+1=18(Z) 3. (328.1—210.5)+12=9. 8(JD)
X 600=450000(m?) 450000m>=45hm’ 45X8=360(If) 4. 25X46=2=5=115(F) 5. (16 4. 38.8X5=194(30) (599—194)+45=9(H) 45X 9=405(50) 5. 86X0.52=44. 72(J%)
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—.1.6 2.15 3.6 4.81 5 15 30 6.6 0.67<C0.76<6.07<C6.70<C7.06<7.60 18 7. 13
30 8. 12 12 144 9. 9.45

—.1.C 2B 3.C 4 C 5 A C

=.1. 114 0.8 0.016 0.09 300 0.96 30 10 2. 559 800 1.7 7.14 3. 70.8 30 4
25 1.2 34.9

M, 1. (248 HfE 2. (1) 18755 XZH () ZHAM 3 THBEHEHMWERD
3.

104 | Vv v Vv

841 VvV v v
6 43 vV Vv v
Ay 20 16 12 18 16 14

(D %5204 (2 —34 6 FRFES 40 5 FOREDFEL . FK 4 31JE 74 em. 40 em.30 cm,
26 em.24 em 5. TEE T WL HH L 2
FENBTEIE

1. 80z 600+a 2. 3a 3. ab=2 3a a® 4. (atb)Xc=aXct+bXc 5. 600—at+b 6. (180°
—a)=+2 7. 15a—x 8. 5a—b 31 9. 3(a—b) 10. x—2 3x 11. a—15 2a—15 12. ¥y
BATEHDKRINE P4 A RDKEEEC 13, 4ab

L X 22X 3 X 4 v 5 X
1.B 2B 3. A 4 C 5B 6.A 7.B 8D
900 9x 7y 10—2a 10x+10 3ab 2lx T7a* 15x b
(24+76) X17 2Xa+2X4 aX(25X4) (b+o)+a U+ Xx aXb—c) a1
L 6at4a=10a(GB) 2. (1) (50a+800)ME (2) 1300 M 3. (1) (150+a)bJt (2) 1350 JC
4, (1) (2.648.4)X3.5-2=19.25(m*) (2) 600X2--48=25CK) 5. (1) 44 A\ 4+4n

(2) 24 5k

v .

.

SFHE I

% SE
—.1. % 60 2. 750 0.6 3.09 3200 1.05 8 80 3. —0.4 —0.1 0.3 0.5 4 = §H
+4 T4 +Hz— S 1—80 0.8 1380 0.035 6. 1.23<C1.32<C2.13<C2.31<C3.12<73. 21

7. 64508.39 6.450839 6 8. 300.03 9. 36 360 10. 3.2cm 11. 5.34 5.25 12. 9.38
1. X 2.X 3 X 4 v 5 X
.1.B 2.A 3.C 4 C 5 A
1. 1.05 0.8 0.99 20 6.8 10 0.9 10 2. 18.22 78.65 57.4 0.24 3. 16.43 3.2
2 36 4. 12X4+8=6CK) 6X8+10=4. 8(cm)
.
.1 (D 9.80419.90=29.7C) (2) 22.50—16=6.5(78) (3) 9.80+19. 90+16. 00+22. 50=
68.2(JC) 60<C68.2 A 2. 600X240+2=72000(m?) 72000m’=7.2hm? 16200-=7.2=
2250(TF35) 3. (9.2—5.6)X2=7.2(F%) 9.2—7.2=2(T%) 4. (20—7.1D+6=2.15(70)
5. 78.58—2.58=76 2.58+0.76=3.34
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10. 74999 65000
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28.1 687 11

F. 1 3.5X1.8+2=3.15(cm’) 2. W
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12.6--(9+5)=7(T5) 3. (48—24)X24+2=288(m?) 288X15=4320(70) 4. (60—48)¢1=
12¢ 12X5=60(TAK) 5. (2) Bkgd MPEMEAE 6. 4510+ 1) =4(ZH) == 108 10+4=
2.500)  2.5X(4X10)+2.5=102. 5(J%)

HARZIE(ZD)
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75, 1. 7500X2--150=100CK) 2. 4.5(a+62) T2k 630 T2k 3. 45 228K 4. (64.6—100X

(648. 8)>< (bll(.) 5)

F—"BRTEIE

1L —120 2. +7 3.2 —20 —

H

0.52)=0.6+100=121CF B} 5. X 2=160(T)

% 3.12 4. 45 5 —5 —3 2 6 6.3.2 7.39 30
9 8 (1)—6 1 (DK 7 (D3 4 —4
Z.L v 22X 3 Vv 4 X 5V
.1.B 2.A 3B 4 C 5 C
L (D) 50X46+2=1150(ecm?) (2) 15X10=150(m?) (3) (6-+19)X8--2=100(dm*)

2. (D 12X10+2=60(cm?) (2) 15X16+2=120(cm*)
1L 140X26+2--455=4(m?) 2. (6+12)X20=360(cm?) 3. (40+64)X60+2-+52=60CK)
4, 600X2+150=8CK) 5. (20—1)X8=152(m*) 6. (6+9) X (40.5+9)+2=33. 75(cm")
7.

(12=+4) X (8+4) X2=12(HH)

FZBRTEIE

) 6 15 -
— = JAN 0 e L9 JANS
N T e Y 2. 100 0. 06 >k 100 0.15 47K 3. 30.003
4, 0.01 8 15 5. 0.2313 7 FK 78.84276 6. > < > > = > 17.0.809<0. 89

<0. 891<C0. 908<C0.98 8. 0.01 0.065 0.12 0.17 9. 10 10. 100001 11. (1) 0.23 0. 34
(2) 3.002 2.003 (BERWAME—) 12. 23.5 53.2 13. 10 10.0 14. 6.5

Z.1L X 2. X 3 X 4 X 5 X

=.1.C 2.B 3. B 4. C 5 C

M, 1. 28.5 0.425 9080 10.04 0.0009 0.8 10.2 99 606 1.905 0.36 0.03 2. 225
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75, 1. 8570.009 2. 1.48 2k

100000 550 1018
1. 0.06 0.5 1.02 2.0.0564 0.06 7.934 7.93 92.976 92.98

L5k 46 F5 3. (1) 10.10>>9.63>>9.40>>8.97 (2) /N

4. (1) 0.078 0.087 0.708 0.780 0.807 0.870 (2) 70.08 70.80 80.07 80.70
(3)7.008 7.080 7.800 8.007 8.070 8.700 (4)700.8 800.7 5. /ML [EIH2.1>>2.05
>1.98>1.92 6. SEiLMRE 56 T30 49 TRy, SRS 49 T o NSl & b8 64 T3emA

FMBETEISE

1 MHFEENE 2. 0.9 3.15.2 4. 3.4 0.314 3.086 5. 1.83+3.17=5

.

5—1.83=3.17

6. 2.99 0.01 7. 21.4 1.46 2.27 6.24 5.95 8 = 5.0 9.0.55 10. 20 9.6
11. 11 2.72 12. 6.1234568
X 2.V 3 X 4 X 5V
.1.C 2.C 3.B 4 C 5 A
1. 0.79 0.48 2 0.4 0.45 3.4 10 1.51 2.5 11.65 0.27 12.08 0.174 ©57.36
19.78 13.05 3. (1) (2.5+1.9—(2.5—1.9)=3.8 (2)42.25—(3.5—2.75)=41.5 (3) 3.6
—1.25+42.4=4.75
Lo12.442.8+12.4=27. 6(F3) 2. 8—4.5)X2=7(Fw) 8—7=1(Fw) 3. 7.8+4.2=

12CK) 4. (1) /NH (2) /MiE 2. 85+0.23—0. 256=2. 83CK)

5. f%:1.45+2.8=4.25(TK) #/:2.8—1.45=1.35(T %)
FhBETEINE

.1.73.8 7.38 7.38 205 3.6 0.0738 2. 0.054 80 3. 4+ 0.49 4. 2.3 0.01 5 <

> = > < = 6. 1800 0.076 8.005 3 50 0.25 3.5 7.2900 8. 17 9. 14

10. 7.76 11. 0.512

LV o2V 3 X 4 X 5 X

.1.LB 2.C 3. A 4B 5 A C

J11.44 6.09 2 0.36 0.09 10.92 30 2.25 2. 24.0

10.86 22.88 7.878 25 20

2.85—2.83=0.02CK)

19.80 85 0.52 3.1 57 1

<L 3.06(0.25X68)=0.18 2. 31.5+0.7+12.5X7.2=135
17,5510 25X 7. 554820, 94(m®) 2. (4.20—0.60X2)+=6=0.5(J6) 3. 184=1.6—70=45
(T2K) 4. 96.5+(25—20) X (25+20)=868.5(J) 5. (1.8—24-+20)X32=19.2(J0) (4—45
+18)X24=36(3T) 19.2436=55. 2(JC)

EXRNERTEISE
J1.5 31 7 29 11 9 3 17 11 37 17 31 2.7 3.15 10 4. 10 5 6 12 6. 24
9632 2369 18 7.6 8.9 9. 24
.1.873 0.1 1.8 10 0.9 2.3 0.6 1.3 2.19.89 75.97 1.52 0.136 3. 18.16 900
6.75 2 1.7 565
N
L6 42em® 12em? 2. 7H 25 H 3. 45Fh 4. (D50 A (2) iEBE 5. 10FF 6. 8 AP
40 SFJ5 K

FNBTEIE
J1oat1 2. 240+¢ 3. 35—atb 4 a8 20a 5 () H-RITTELLTK D EKGT
ZOTK Q) MR- T2/ (D) FERE—-RZITLZPTK 6. 5a 3a 7. 90—
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13. 100a+106+c

1.B 2B 3.C 4D 5.C 6.C 7. A 8 C

1.1 434 1lx 5V 0 2x 0.09 4a t 0.25 2. 9.48 9.24 77.22 / 5.7 25

1. BatoTK 485 F2K 2. 180—56 (180—5h-+c 3K 3. (1) 38y (2) 11404 4. S=
(a+b)Xh=+2 (36.4—10) X10+2=132(m") 5. (1) 1000--4=250(Z>K) (2) 1000—4x

(3) 4x—1000

HhE3E
2. +1.6 10 +100 —10
150 0.4 6. 44

L+ + @A A
430 5. 0.8 0.05 0.036 402 3
9. 8.3886 8.4 10. 6.54 6.45

Lv 22X 3 v 4 X 5 X
1.D 2.C 3B 4 B 5 C

1. 0.16 6.7 0.8 1.2 36 1.91 0.65
3 568 5.656 5.8

—4.5

7. 2em’

—6 3. 13
8. 126cm’

5 4.0.1 16

63cm?

1.3 2. 21.36 14.33 7.45 2.167 3.1 2.61
5.
%
1. 245.3—33.7+47.8=259.400) 2. (3.4—1. D X2=3(F5) 3.4—3=0.4(F7)

25.2X210=500(T-3%) 4. (20—8) X8+2=48(cm?) 5. 20X (12—2)=200(m*)

HAREISE(—)

1. 9.085 JUEZENAT 2. ¥ K 10004% 3. 52.36 5.974 6.0 600 0.7 4. 0.85 30000

3. 60—+

5 < = > = < < 6.1.25 0.8 7. 1.6 8 8549 9. y/ 1.2 3 10. 72cm?
11. 2.5 12.42 462 4662 4 66------ 62
NAURL

2446

L. X 2v 3 X 4 X 5 X

1.C 22C F 3.C 4 C 5 A

1. 0.096 0.7 1.2 7 6.75 0.748
0.38 3.10 1.35

i

1. (D 2.5—1.9=0.6(J5) (2) 20—(3.6+4.2X3)=3.8(7t) 4.2—2.5=1.7() 2. 6K 15
A 3.0 (D 1X24=24(m?) (2) (39— 1) X24+-5~182(H) 4. 5 2 FTEHRASH  (170+210) X
0.52=197.6(38) 170X 0.55-+210X0. 35=167(7t) 197.6—167=30.6(C) 5. (1D5 10 15
20 (2)50 A 1.08

12 0.36 2. 7.8 0.888 23.19 0.076 0.0153
115.23 324 0.01465 27.08

BHREIE(ZD)
1. #2000 9 2. —60 3. 400.056 6 3 5 4. 0.54 27 3.8 0.012 5 < > >
= 6.96 24 7.0.4 50 8. 2.5 9.32 10. 2a+3b 12.6 11. 7 12. 4.149 4.050
L X 2.X 3 X 4 X 5 X
1.LA 2B 3B 4B 5B
1.1 0.23 0.14 240 35 5 0.99 0.65 2. 7.25 1.45 1.53 5.2 3.20.2 1.44
2. 100 0.01
1. (100+160) X 120=+2=15600(m?)
—5X80)+65=5(4) 5 325

(Jt)  154+200=215(71)

15600m? =1, 56hm* 2. 3X0.5+2=0. 75CNI}) 3. (725
400 4. (5—45--10) X30=15Gn) (1. 5—10-+20) X200=200
5. 8X4=32(m*) 6. (2) .62k 1.57K



